SBI PO 2023

N e
=
S e

PAPER - 12

21137 eh3al aht 3BT 91T |

we 09:00 AM @




Join my
TELEGRAM GROUP

) @reasoningbybasantsir

Daily PDF of all YT sessions
Discussion / Doubt Solving
Direct Interaction with me
Quiz
@ Polls



& \SBI CLERK 2023

. AY_1 » STEIR Batch

INEQUALITY

et 99w ZER0 |
REASONING @ 200pve




If the even digits of a number ‘256463127’ are
decreased by 2 and the odd digits are increased by 2,
‘then which of the following number will we get by -
multiplying the fifth digit from the left with the
second digit from the right?

afe forelt HEaT 1256463127' % T ek 2 wer fau wmd

3R forww 37k 2 J¢T QU S, o o1u |/ uiee 3tk ﬁ

- WA TW mﬁwwﬁm%ﬁﬁmﬁlﬁmﬁﬁﬁ-—r
o HEAT ITH B

a) 16

b) 4

C)=r2

d 28

e) 36



as MVGJUVBFC then how PHENOMENON will be
coded in the same code language?

Ife uek fATaa e 9T & BEAUFTIFUL <RI '
MVGJUVBFEC % &0 H sfeq feram wrar 2, 9t 36t e
T % PHENOMENON o 37T TehTR HedF ool

SATET?

If in a certain code language BEAUFTIFUL is coded
0SBl

a) OPOFSPOFIQ
b) OPOFNPOFIQ
¢) OPOXNPOFIQ
d) OPOFNPLFIQ
e) OPOFNQOFIQ



There are eight people: Ashu, Dishu, Krishu, Mishu, Nishu, Rishu,
Prishu, and Vishu. They all were born in different years viz. 1973,
2001, 1985, 1979, 2004, 1989, 1995, and 1998 but not necessarily in
‘the same order. But the date and month of birth of all these persons
are the same. The calculation is done with respect to the present year
2021 and assuming months and date to the same. The age of Mishu is
a prime number. Two people were born between Mishu and Nishu.
Two were born between Rishu and Ashu. The difference between the
age of Nishu and Prishu is 6years. The age of Prishu is not divisible
by 8. The age of Krishu is divisible by 4 but he is neither the eldest
person nor was born adjacent to Nishu. Rishu was born just after
Krishu. Dishu was born just before Ashu.
TS T & oy, e, Tomyy, forsr, ey, fior, forer ofit foran o ot ot
W‘clﬁffaa Q‘I 1973 2001, 1985 1979 2004 1989 1995 3R
1998 ﬁﬁmaﬁqﬁr%ﬁ S éﬁmgwmﬁ—qﬁm‘raﬁ
mﬁﬁmﬁwﬁmw%”r%l TUTHT SAHTT 99 2021 & T T 3R I R
ATAR TR R ARG HIHL hl T3 5 THIT Al IH Teh FTHT TEAT 2
3T 1597 3 offer 31 T ahT ST g FRRT 91T o1Tyy < ofter & e
gU) 9T 31X firer <t 51 & = ot 3t 6 an 21 BT frsmg 8 &
72T 81 Toryr <At 21T 4 B Tormewr € AfeRe o T 1 wad wrgr satew
T &t o1 3 Ter ® ey g 21 foRgT 3 ek ag figy o St gam
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There are eight people: Ashu, Dishu, Krishu, Mishu, Nishu, Rishu,
Prishu, and Vishu. They all were born in different years viz. 1973,
2001, 1985, 1979, 2004, 1989, 1995, and 1998 but not necessarily in
the same order. But the date and month of birth of all these persons
are the same. The calculation is done with respect to the present year
2021 and assuming months and date to the same. The age of Mishu is
a prime number. Two people were born between Mishu and Nishu.
Two were born between Rishu and Ashu. The difference between the
age of Nishu and Prishu is 6years. The age of Prishu is not divisible
by 8. The age of Krishu is divisible by 4 but he is neither the eldest
person nor was born adjacent to Nishu. Rishu was born just after
Krishu. Dishu was born just before Ashu.

Who was born on 1985?

a) Krishu
b) Nishu
¢) Ashu
d) Dishu

e) Rishu



There are eight people: Ashu, Dishu, Krishu, Mishu, Nishu, Rishu,
Prishu, and Vishu. They all were born in different years viz. 1973,
2001, 1985, 1979, 2004, 1989, 1995, and 1998 but not necessarily in
the same order. But the date and month of birth of all these persons
are the same. The calculation is done with respect to the present year
2021 and assuming months and date to the same. The age of Mishu is
a prime number. Two people were born between Mishu and Nishu.
Two were born between Rishu and Ashu. The difference between the
age of Nishu and Prishu is 6years. The age of Prishu is not divisible
by 8. The age of Krishu is divisible by 4 but he is neither the eldest
person nor was born adjacent to Nishu. Rishu was born just after
Krishu. Dishu was born just before Ashu.

Whose age is equal to the average age of Mishu and Rishu?

a) Prishu
b) Nishu
¢) Ashu
d) Krishu

e) Vishu



There are eight people: Ashu, Dishu, Krishu, Mishu, Nishu, Rishu,
Prishu, and Vishu. They all were born in different years viz. 1973,
2001, 1985, 1979, 2004, 1989, 1995, and 1998 but not necessarily in
the same order. But the date and month of birth of all these persons
are the same. The calculation is done with respect to the present year
2021 and assuming months and date to the same. The age of Mishu is
a prime number. Two people were born between Mishu and Nishu.
Two were born between Rishu and Ashu. The difference between the
age of Nishu and Prishu is 6years. The age of Prishu is not divisible
by 8. The age of Krishu is divisible by 4 but he is neither the eldest
person nor was born adjacent to Nishu. Rishu was born just after
Krishu. Dishu was born just before Ashu.

How many people are born between Vishu and Dishu?

a) Two
b) Six
¢) Four
d) One

e¢) None of these



There are eight people: Ashu, Dishu, Krishu, Mishu, Nishu, Rishu,
Prishu, and Vishu. They all were born in different years viz. 1973,
2001, 1985, 1979, 2004, 1989, 1995, and 1998 but not necessarily in
the same order. But the date and month of birth of all these persons
are the same. The calculation is done with respect to the present year
2021 and assuming months and date to the same. The age of Mishu is
a prime number. Two people were born between Mishu and Nishu.
Two were born between Rishu and Ashu. The difference between the
age of Nishu and Prishu is 6years. The age of Prishu is not divisible
by 8. The age of Krishu is divisible by 4 but he is neither the eldest
person nor was born adjacent to Nishu. Rishu was born just after
Krishu. Dishu was born just before Ashu.

Whose age is a multiple of 5?

a) Prishu
b) Nishu
¢) Mishu
d) Ashu

e) Krishu



There are eight people: Ashu, Dishu, Krishu, Mishu, Nishu, Rishu,
Prishu, and Vishu. They all were born in different years viz. 1973,
2001, 1985, 1979, 2004, 1989, 1995, and 1998 but not necessarily in
the same order. But the date and month of birth of all these persons
are the same. The calculation is done with respect to the present year
2021 and assuming months and date to the same. The age of Mishu is
a prime number. Two people were born between Mishu and Nishu.
Two were born between Rishu and Ashu. The difference between the
age of Nishu and Prishu is 6years. The age of Prishu is not divisible
by 8. The age of Krishu is divisible by 4 but he is neither the eldest
person nor was born adjacent to Nishu. Rishu was born just after
Krishu. Dishu was born just before Ashu.

How many people are born between Vishu and Ashu?

a) Two
b) Four
¢) Three
d) One

e) Five



Statements:

All M are N.
Some M are P.
Conclusions:

I. Some P are N.

~1I. No P is a N.

a) Only Conclusion I follows

b) Only Conclusion II follows

¢) Both conclusion I and 11 follows
d) None of the conclusion follows
e) Answer not known



Statements:

Only a few Red are Blue.

Only a few Blue is Pink.

All Pink is Yellow.

Conclusions:

1. All Yellow being Blue is a possibility.
II. Some Pink is Red.

a) If only conclusion I follows.

b) If only conclusion II follows.

¢) If either conclusion I or II follows.
d) If neither conclusion I nor 11 follows.
e) If both conclusions I and 11 follow.



Statements:

Only a few Sea are River

All River are Water bodies
Conclusions:

I. Some Sea are Water bodies
~11. All sea are River

a) BothlI and II follows

b) Neither I and II follows
¢) Either I or 1I follows

d) Only I follow

e) Only II follows



Statements:
C<R<ISTSS=Y>P2A<L<D<F2Gz2H

Conclusions:
I.Y>C

I. Y>D
IHILLI<A

a) Only Conclusion 1 is True
b)  Only Conclusion II is True
c) Only Conclusion III is True

d) Both Conclusion I and II is True
) Both Conclusion I and 11i is True



Which of the following symbols should be placed in
the blank spaces respectively (in the same order from
left to right) in order to complete the given expression

in such a manner that “S < X” and “N 2 P” deﬁnltely
hold True?

fou o srfvrsatt &l 30 9% O q R & foo
ﬁm%ﬁaaﬁﬁaﬁqﬁmﬁ%ﬁaﬁm:ﬁﬁ TAMET W
~ (9TC ¥ ITC THTH shH W) T ST AT dTieh 'S <X
IR "N 2 p" fHfya a9 e 812

X N O2S P

e
b) =2,=
¢} >2,=
dy ==

e) None of these



Which of the following symbols should replace '?' in
the given expression in order to make expression P >
Q definitely true?

A {eTir o & I &1 Jffeh 2" ST T 4T <1eT
gqé'qm STk H 2iSTeh P > Q ohi [AfYd 9 9 7 99

~R=N>Q?T<V=0?P2SSU

a) <, <
b) ><
C) < 2
d)sr=si
e) 2,2



A certain number of persons sit in a linear row facing towards
North. Five persons are sitting between Neha and Ritu. Riya sits
fourth to the right of Ritu and third to the left of Megha. Number of
persons sit between Neha and Priya is equal to the number of a
persons sit between Priya and Riya. Neha sits fourth from one of the
extreme ends. Number of persons sits between Neha and Anu is one
more than the persons sit between Anu and Priya. Nitu sits seventh
to the left of Priya. As many persons sit to the right of Megha is one
less than the total number of persons sit to the left of Nitu. Total
number of persons are sitting between Neha and Riya is more than
four.

weh fiera dear # safw s foum it ofR g whteh Uk Yaeh Ui &
éaﬁ%lﬁaaﬁiﬁa%aﬁamwﬁsa%%lﬁmﬁa%aﬁﬁ%ﬁéaﬁ?
T o T W O T U S Bl e 3R T & e a8 sateat Y
Tt T ok Rt o dfter 98 safedl dh Gt & avTer 2 A2t fordt
TS 3T B & ST T U 93T g 487 AR 31 o &ie da ared
—qﬁﬁqﬁaﬁmmaﬁ?ﬁm%aﬁaéﬁmﬁ—qﬁm‘raﬁmﬁ
aﬁm%lﬁzﬁm%wwmtmméﬁ%lﬁm%swaﬁi
R safras ¥, g e o AT 3R S AR Shi Thel HEAT A Teh
w%iﬁmaﬁiﬁm%aﬁa%—qﬁw‘raﬁwmwﬁaﬁm%



A certain number of persons sit in a linear row facing towards
North. Five persons are sitting between Neha and Ritu. Riya sits
fourth to the right of Ritu and third to the left of Megha. Number of
persons sit between Neha and Priya is equal to the number of ’
persons sit between Priya and Riya. Neha sits fourth from one of the
extreme ends. Number of persons sits between Neha and Anu is one
more than the persons sit between Anu and Priya. Nitu sits seventh
to the left of Priya. As many persons sit to the right of Megha is one
less than the total number of persons sit to the left of Nitu. Total
number of persons are sitting between Neha and Riya is more than
four.

How many persons sit to the left of Nitu?

a) One
b) Two
¢) Three
d) Four

e) Five



A certain number of persons sit in a linear row facing towards
North. Five persons are sitting between Neha and Ritu. Riya sits
fourth to the right of Ritu and third to the left of Megha. Number of
persons sit between Neha and Priya is equal to the number of ’
persons sit between Priya and Riya. Neha sits fourth from one of the
extreme ends. Number of persons sits between Neha and Anu is one
more than the persons sit between Anu and Priya. Nitu sits seventh
to the left of Priya. As many persons sit to the right of Megha is one
less than the total number of persons sit to the left of Nitu. Total
number of persons are sitting between Neha and Riya is more than
four.

Who sits extreme right end of the row?

a) Megha
b) Riya
¢) Ritu

d) Neha

e) Priya



A certain number of persons sit in a linear row facing towards
North. Five persons are sitting between Neha and Ritu. Riya sits
fourth to the right of Ritu and third to the left of Megha. Number of
persons sit between Neha and Priya is equal to the number of ’
persons sit between Priya and Riya. Neha sits fourth from one of the
extreme ends. Number of persons sits between Neha and Anu is one
more than the persons sit between Anu and Priya. Nitu sits seventh
to the left of Priya. As many persons sit to the right of Megha is one
less than the total number of persons sit to the left of Nitu. Total
number of persons are sitting between Neha and Riya is more than
four.

How many persons are sitting between Neha and Riya?

a) Six

b) Seven
¢) Eight
d) Nine

e) Ten



A certain number of persons sit in a linear row facing towards
North. Five persons are sitting between Neha and Ritu. Riya sits
fourth to the right of Ritu and third to the left of Megha. Number of
persons sit between Neha and Priya is equal to the number of ’
persons sit between Priya and Riya. Neha sits fourth from one of the
extreme ends. Number of persons sits between Neha and Anu is one
more than the persons sit between Anu and Priya. Nitu sits seventh
to the left of Priya. As many persons sit to the right of Megha is one
less than the total number of persons sit to the left of Nitu. Total
number of persons are sitting between Neha and Riya is more than
four.

Who sits fourth to the left of Riya?

a) Ritu
b) Neha
¢) Megha
d) Priya

e) Riya



A certain number of persons sit in a linear row facing towards
North. Five persons are sitting between Neha and Ritu. Riya sits
fourth to the right of Ritu and third to the left of Megha. Number of
persons sit between Neha and Priya is equal to the number of '
persons sit between Priya and Riya. Neha sits fourth from one of the
extreme ends. Number of persons sits between Neha and Anu is one
more than the persons sit between Anu and Priya. Nitu sits seventh
to the left of Priya. As many persons sit to the right of Megha is one
less than the total number of persons sit to the left of Nitu. Total
number of persons are sitting between Neha and Riya is more than
four.

How many persons are sitting in a row?

a) 15
b) 16
¢c) 17
d 10

e) 12



TIN POD JET CAT GUN

If all the letters in each of the words are arranged
alphabetically (within the word), how many words
will remain unchanged

aﬁuﬁsﬁm%vﬁr TR ShT JUTIHSHA W (IS5 h
i) sgaftera forar s, a‘rﬁmﬁmauﬁaﬁ?ﬂ%ﬁ"

a) One

b) Two
¢) Three

d) More than three
e) None



TIN POD JET CAT GUN

According to English alphabetical series how many
letters are there between the 1st letter of the 2nd
word and 2nd letter of 5th word ?

SIS FUTHTEAT SEEAT oh STTHR T I155 o UgeT e
3R U 967 o GER 78R o S feha oTem 2

a) Two
b) One
¢) None
d) Three

e) More than three



TIN POD JET CAT GUN

If 1st letter (in-all the words) are changed to the
previous letter of the English alphabetical series, how
many words will have more than one vowel ?

qfe U TUTHTAT ST o Ugel AR (AHT I3 H)
! TUoer 31er & waet faam =, a‘rﬁmﬁmﬁ‘rﬁqm@r
3TTereR T B2

a) One
b) Two
¢) Three

d) More than three
e) None



TIN POD JET CAT GUN

If all the vowels (in all the words) are changed to the
next letter of the English alphabetical series, how
many words will form meaningful words?

aﬁ:mﬁwﬁ (Tt IToST H) <hT SIS TUTHTAT HTAT 6
aaa%ﬁax&r{ﬁwﬁmm a‘rﬁmﬁmmﬁsﬁm

a) One
b) Two
¢) Three

d) More than three
e) None



TIN POD JET CAT GUN

If position of the 1st and 3rd letters of all the words
are interchanged and then the words thus formed are
arranged in dictionary order from left to right, which
of the following will be second from left ?

g Tl ITSAT oh UgeT ST AT 3TeR <t R sl Tmud
W geet 39T AU TR TR 38 IR o 9TsaT <kl YTeaehioT
A H IT0 | 270 sga el fehar oy, af Feafafaa g
ﬁ-—rmmﬁaﬁwmgﬁm?
a) SAT
b) DEN
¢) ROD
d) PIN
e) FUN



Eight persons A, B, C, D, E, F, G and H are sitting in a
horizontal row. Four of them face north while rest face south.
‘Not more than two adjacent persons face in the same direction.
A sits second to the left of D. F sits to the immediate left of H. D
and F are adjacent to each other. C is not adjacent to A but
faces south. The number of persons to the left of A is one more
than the number of persons to the right of him. B sits second to
the left of G and both face in the same direction. C does not sit
at extreme end. The person at extreme end face in the same-
direction.

A HRF A, B, C,D,E,F,G 3R H Uk ST UfRF AT IS 21 STH A
Wwwwzﬁw%mﬁsﬁtrwwﬁwzﬁaﬁ?%m‘rﬁ
AfereR ATHT SuThAT o1 T ek €1 29T # T 81 A, D o st i
=T T U FST R) F, H o Sieh ot 37K 37 2| Daﬁ'{FQEFE'Fﬁ
& e 8 C, A 3F Forerzesr T 5 o 2R BT ST T )
A 3 TS 3 3 SARRTT T T 36 ETE 3R o SRR SR
U Tk 37T 2| B, G%Waﬁiwwm%%aﬁ'{aﬁﬁw
wwﬁ%mﬁ%l C sifaq 3R W A For 21 ifew SR W JaT
—qﬁswﬁ{maﬁaﬁ'{m%l



Eight persons A, B, C, D, E, F, G and H are sitting in a
horizontal row. Four of them face north while rest face south.
Not more than two adjacent persons face in the same direction.
A sits second to the left of D. F sits to the immediate left of H. D
and F are adjacent to each other. C is not adjacent to A but
faces south. The number of persons to the left of A is one more
than the number of persons to the right of him. B sits second to
the left of G and both face in the same direction. C does not sit
at extreme end. The person at extreme end face in the same
direction.

Who sits immediate right of C?

a) G
b) B
¢) A
d E
e) F



Eight persons A, B, C, D, E, F, G and H are sitting in a
horizontal row. Four of them face north while rest face south.
Not more than two adjacent persons face in the same direction.
A sits second to the left of D. F sits to the immediate left of H. D
and F are adjacent to each other. C is not adjacent to A but
faces south. The number of persons to the left of A is one more
than the number of persons to the right of him. B sits second to
the left of G and both face in the same direction. C does not sit
at extreme end. The person at extreme end face in the same
direction.

Four are the same in a certain way thus forms a group. Which
among the following does not belong to the group??

a) B
b) H
¢) D
d G
e) A



Eight persons A, B, C, D, E, F, G and H are sitting in a
horizontal row. Four of them face north while rest face south.
Not more than two adjacent persons face in the same direction.
A sits second to the left of D. F sits to the immediate left of H. D
and F are adjacent to each other. C is not adjacent to A but
faces south. The number of persons to the left of A is one more
than the number of persons to the right of him. B sits second to
the left of G and both face in the same direction. C does not sit
at extreme end. The person at extreme end face in the same
direction.

How many persons sit to the right of E?

a) Three
b) Four
¢) One
d) Five
e) Six



Eight persons A, B, C, D, E, F, G and H are sitting in a
horizontal row. Four of them face north while rest face south.
Not more than two adjacent persons face in the same direction.
A sits second to the left of D. F sits to the immediate left of H. D
and F are adjacent to each other. C is not adjacent to A but
faces south. The number of persons to the left of A is one more
than the number of persons to the right of him. B sits second to
the left of G and both face in the same direction. C does not sit
at extreme end. The person at extreme end face in the same
direction.

Who sits second to the right of G?

a) E
b) D
¢) F
d) H
e) C



Eight persons A, B, C, D, E, F, G and H are sitting in a
horizontal row. Four of them face north while rest face south.
Not more than two adjacent persons face in the same direction.
A sits second to the left of D. F sits to the immediate left of H. D
and F are adjacent to each other. C is not adjacent to A but
faces south. The number of persons to the left of A is one more
than the number of persons to the right of him. B sits second to
the left of G and both face in the same direction. C does not sit
at extreme end. The person at extreme end face in the same
direction.

Who sits immediate left of G?

a) B
b) C
¢c) D
d F
e) H
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769 853 682 378

Q.1. If all the numbers are arranged in descending order, what will be the
difference between the second digit of third number and first digit of

second number?

1)2 2)1 3)3 4) 4 S) None of these



769 853 682 378

Q.2. If one is subtracted from the first and second digits of each number. What
will be difference between the first digit of the highest number and the
first digit of the lowest number?

2 - 2)3 - 3)4 4)5

S) None of these



769 853 682 378

Q.3. Ifin each number the first and the second digits are interchanged, which
number will be the second highest number?
853 2) 769 3) 378

7y 682 S) None of these



769 853 682 378

Q.4. Ifin each number, the first digit is replaced by the third digit, second digit
is replaced by the first digit and third digit is replaced by the second digit
then which number will be the second highest?

378 2) 769 3) 682

4) 428 S) None of these



769 853 682 378

Q.4. Ifin each number all the digits are arranged in ascending order, which
number will be the second lowest?
428 2) 682 3) 853 4) 378

S) None of these



